



Title	Two dimensional Q-algebras
Author(s)	Nakazi, T.
Citation	Hokkaido University Preprint Series in Mathematics, 481, 1-11
Issue Date	2000-5-1
DOI	10.14943/83627
Doc URL	http://hdl.handle.net/2115/69231
Type	bulletin (article)
File Information	pre481.pdf



[Instructions for use](#)

Two Dimensional Q -Algebras

Takahiko Nakazi

Series #481. May 2000

HOKKAIDO UNIVERSITY
PREPRINT SERIES IN MATHEMATICS

- #457 A. Arai and M. Hirokawa, Grounds states of a general class of quantum field Hamiltonians, 55 pages. 1999.
- #458 S. Izumiya and N. Takeuchi, Singularities of ruled surfaces in \mathbf{R}^3 , 11 pages. 1999.
- #459 Y. Giga and M.-H. Sato, On semicontinuous solutions for general Hamilton-Jacobi equations, 8 pages, 1999.
- #460 H. Furuhata and T. Kurose, Self-dual centroaffine surfaces of codimension two with constant affine mean curvature, 14 pages. 1999.
- #461 M.-H. Giga, Y. Giga and R. Kobayashi, Very singular diffusion equations, 37 pages, 1999.
- #462 T. Nakazi, Essential norms of some singular integral operators, 6 pages, 1999.
- #463 R. Agemi, Global existence of nonlinear elastic waves, 57 pages, 1999.
- #464 T. Mikami, Dynamical systems in the variational formulation of the Fokker-Plank equation by the Wasserstein metric, 52 pages. 1999.
- #465 N. Kawazumi and Y. Shibukawa, The meromorphic solutions of the Bruschi-Calogero equation, 20 pages. 1999.
- #466 S. Izumiya, G. Kossioris and G. Makrakis, Multivalued solutions to the eikonal equation in stratified media, 24 pages. 1999.
- #467 K. Kubota and K. Yokoyama, Global existence of classical solutions to systems of nonlinear wave equations with different speed of propagation, 105 pages. 1999.
- #468 A. Higuchi, K. Matsue and T. Tsujishita, Deductive hyperdigraphs – a method of describing diversity of coherences, 35 pages. 1999.
- #469 M. Nakamura and T. Ozawa, Small solutions to nonlinear Schrödinger equations in the Sobolev spaces, 26 pages. 1999.
- #470 M. Nakamura and T. Ozawa, Small solutions to nonlinear wave equations in the Sobolev spaces, 27 pages. 1999.
- #471 K. Ito and Y. Kohsaka, Stability of a stationary solution for evolving boundaries of symmetric three-phases driven by surface diffusion, 36 pages. 1999.
- #472 Y. Giga and M.-H. Sato, A level set approach to semicontinuous viscosity solutions for Cauchy problems, 32 pages. 1999.
- #473 R. Yoneda, Characterization of Bloch space and Besov spaces by oscillations, 31 pages. 1999.
- #474 T. Nakazi, Norm inequalities for some singular integral operators, 13 pages. 1999.
- #475 A. Inoue and Y. Kasahara, Asymptotics for prediction errors of stationary processes with reflection positivity, 15 pages. 1999.
- #476 T. Sano, On affine parallels of generic plane curves, 8 pages. 1999.
- #477 T. Nakazi, On an invariant subspace whose common zero set is the zeros of some function, 11 pages. 1999.
- #478 M.-H. Giga and Y. Giga, Generalized motion by nonlocal curvature in the plane, 68 pages. 2000.
- #479 M.-H. Giga and Y. Giga, Crystalline and level set flow – Convergence of a crystalline algorithm for a general anisotropic curvature flow in the plane, 16 pages. 2000.
- #480 A. Arai and M. Hirokawa, Stability of ground states in sectors and its application to the Wigner-Weisskopf model, 16 pages. 2000.

Two Dimensional Q -Algebras

By

Takahiko Nakazi*

*This research was partially supported by Grant-in-Aid for Scientific Research, Ministry of Education.

1991 Mathematics Subject Classification : Primary 46 J 05, 46 J 10, Secondary 47 A 30, 47 B 38

Keywords and phrases : commutative Banach algebra, Q -algebra, two dimension, norm

Abstract. Two dimensional commutative Banach algebra \mathcal{B} with a unit has a simple form : $a + bB$ for some fixed B in \mathcal{B} and for a, b in \mathbf{C} . When \mathcal{B} is an operator algebra on a Hilbert space, we show that the norm on \mathcal{B} is explicitly determined and then \mathcal{B} is a Q -algebra. Moreover, we describe completely two dimensional Q -algebras with their norms.

§1. Introduction

Let \mathcal{B} be a two dimensional commutative Banach algebra with a unit I . Hence $\mathcal{B} = \{aI + bB ; a, b \in \mathbf{C}\}$. The following proposition shows that we can choose good ones as B in \mathcal{B} .

Proposition 1. *Suppose $\mathcal{B} = \{aI + bB ; a, b \in \mathbf{C}\}$ is a commutative Banach algebra. Then $B^2 = \alpha I + \beta B$ for some $\alpha, \beta \in \mathbf{C}$. If $\beta^2 + 4\alpha \neq 0$ then $\mathcal{B} = \{aI + bB_0 ; a, b \in \mathbf{C}\}$ where $B_0^2 = I$. If $\beta^2 + 4\alpha = 0$ then $\mathcal{B} = \{aI + bB_0 ; a, b \in \mathbf{C}\}$ where $B_0^2 = 0$.*

Proof. Suppose $B^2 = \alpha I + \beta B$. If $\beta^2 + 4\alpha \neq 0$, put $B_0 = a_0 I + b_0 B$ where

$$a_0 = -\frac{\beta}{\sqrt{\beta^2 + 4\alpha}} \quad \text{and} \quad b_0 = \frac{2}{\sqrt{\beta^2 + 4\alpha}},$$

then $B_0^2 = (a_0^2 + \alpha b_0^2)I + (2a_0 b_0 + b_0^2 \beta)B = I$. If $\beta^2 + 4\alpha = 0$, put $B_0 = a_0 I + b_0 B$ where

$$a_0 = -\frac{\beta}{2} \quad \text{and} \quad b_0 = 1,$$

then $B_0^2 = (a_0^2 + \alpha b_0^2)I + (2a_0 b_0 + b_0^2 \beta)B = 0$.

In Proposition 1, if $\beta^2 + 4\alpha \neq 0$ then $\mathcal{B} = \{aP + bQ ; a, b \in \mathbf{C}\}$ where $P + Q = I$, $P^2 = P$ and $Q^2 = Q$. In fact $P = (I + B_0)/2$ and $Q = (I - B_0)/2$.

Two dimensional semi-simple Banach algebras have been studied by Drury [3], and Cole, Lewis and Wermer [2].

In Section 2, when \mathcal{B} is an operator algebra on a Hilbert space H , the norm of $\alpha I + \beta B_0$ is given explicitly using α, β and $\|B_0\|$. When $B_0^2 = I$, this is a theorem of Feldman, Krupnik and Markus [4]. In Section 3, as a result in Section 2 we give a formula for a norm on two dimensional Q -algebra using a part metric and a norm of a bounded point derivation. In Section 4, we consider the algebras \mathbf{C}^2 under a few multiplication.

§2. Norm of $\alpha I + \beta B$

In this section, assuming that $B^2 = I$ or $B^2 = 0$ we give explicit formulae for norms of $\alpha I + \beta B$ using α, β and $\|B\|$. (1) of Theorem 1 is a theorem of Feldman, Krupnik and Marcus [4] and (2) of Theorem 1 can be proved by [4]. We give elementary proofs of them.

Theorem 1. *Let B be a bounded linear operator on a Hilbert space H .*

(1) If $B^2 = I$ and B is not a scalar multiple of I then

$$\begin{aligned} \|\alpha I + \beta B\| &= \sqrt{\left|\frac{\beta}{2}\right|^2 \left(\|B\| - \frac{1}{\|B\|}\right)^2 + \left(\frac{|\alpha + \beta| + |\alpha - \beta|}{2}\right)^2} \\ &+ \sqrt{\left|\frac{\beta}{2}\right|^2 \left(\|B\| + \frac{1}{\|B\|}\right)^2 + \left(\frac{|\alpha + \beta| - |\alpha - \beta|}{2}\right)^2}. \end{aligned}$$

(2) If $B^2 = 0$ then

$$\|\alpha I + \beta B\| = \sqrt{\left|\frac{\beta}{2}\right|^2 \|B\|^2 + |\alpha|^2} + \left|\frac{\beta}{2}\right| \|B\|.$$

Proof. (1) Set $P = (I - B)/2$ and $Q = (I + B)/2$ then $P + Q = I$, $P^2 = P$, $PQ = 0$ and $\alpha I + \beta B = (\alpha + \beta)P + (\alpha - \beta)Q = aP + bQ$. Put $H_1 = PH$ and $H_2 = QH$ then

$$P = \begin{pmatrix} I_1 & C \\ 0 & 0 \end{pmatrix} \text{ and } Q = \begin{pmatrix} 0 & -C \\ 0 & I_2 \end{pmatrix}$$

on $H = H_1 \oplus H_2$ where I_j is an identity operator on H_j ($j = 1, 2$) and C is a bounded linear operator from H_2 to H_1 . Hence

$$\alpha I + \beta B = \begin{pmatrix} aI_1 & (a - b)C \\ 0 & bI_2 \end{pmatrix}.$$

Suppose $\|\alpha I + \beta B\| = \gamma$, then

$$\begin{pmatrix} \bar{a}I_1 & 0 \\ (\bar{a} - \bar{b})C^* & \bar{b}I_2 \end{pmatrix} \begin{pmatrix} aI_1 & (a - b)C \\ 0 & bI_2 \end{pmatrix} \leq \gamma^2$$

and hence

$$\begin{pmatrix} (\gamma^2 - |a|^2)I_1 & (\bar{a}b - |a|^2)C \\ (\bar{a}\bar{b} - |a|^2)C^* & (\gamma^2 - |b|^2)I_2 - |a - b|^2 C^*C \end{pmatrix} \geq 0.$$

Hence

$$(\gamma^2 - |a|^2)\|f\|^2 + 2\operatorname{Re}(\bar{a}b - |a|^2)\langle Cg, f \rangle + (\gamma^2 - |b|^2)\|g\|^2 - |a - b|^2\|Cg\|^2 \geq 0$$

for any $f \oplus g \in H_1 \oplus H_2$ where $\langle \cdot, \cdot \rangle$ denotes the inner product on H . Therefore it is easy to see that

$$(\gamma^2 - |a|^2)^{1/2} \left[\gamma^2 - (|b|^2 + |a - b|^2 \frac{\|Cg\|^2}{\|g\|^2}) \right]^{1/2} \geq |\bar{a}b - |a|^2| \cdot |\langle Cg, f \rangle| / \|f\| \cdot \|g\|.$$

Taking the supremum over f and g with $\|f\| \leq 1$ and $\|g\| \leq 1$, we get that

$$(\gamma^2 - |a|^2)^{1/2} [\gamma^2 - (|b|^2 + |a - b|^2 \|C\|^2)]^{1/2} \geq |\bar{a}b - |a|^2| \cdot \|C\|$$

and hence

$$\gamma^4 - (|a|^2 + |b|^2 + |a - b|^2 \|C\|^2) \gamma^2 + |a|^2 |b|^2 \geq 0.$$

Since $\gamma^2 \geq \max(|a|^2, |b|^2) \geq |ab|$,

$$\begin{aligned} \gamma^2 &\geq \frac{1}{2} \{ (|a|^2 + |b|^2 + |a - b|^2 \|C\|^2) \\ &\quad + \sqrt{(|a|^2 + |b|^2 + |a - b|^2 \|C\|^2)^2 - 4|a|^2 |b|^2} \}. \end{aligned}$$

$$\text{Since } \sqrt{t + \sqrt{t^2 - |a|^2 |b|^2}} = \sqrt{\frac{t + |ab|}{2}} + \sqrt{\frac{t - |ab|}{2}},$$

$$\begin{aligned} \|aP + bQ\| &= \gamma \\ &\geq \sqrt{\left| \frac{a - b}{2} \right|^2 \|C\|^2 + \left(\frac{|a| + |b|}{2} \right)^2} + \sqrt{\left| \frac{a - b}{2} \right|^2 \|C\|^2 + \left(\frac{|a| - |b|}{2} \right)^2}. \end{aligned}$$

Conversely if

$$\gamma = \sqrt{\left| \frac{a - b}{2} \right|^2 \|C\|^2 + \left(\frac{|a| + |b|}{2} \right)^2} + \sqrt{\left| \frac{a - b}{2} \right|^2 \|C\|^2 + \left(\frac{|a| - |b|}{2} \right)^2},$$

then $(\gamma^2 - |a|^2)^{1/2} \{ \gamma^2 - (|b|^2 + |a - b|^2) \cdot \|C\|^2 \}^{1/2} = |\bar{a}b - |a|^2| \|C\|$ and hence

$$(\gamma^2 - |a|^2)^{1/2} \left[\gamma^2 - (|b|^2 + |a - b|^2 \frac{\|Cg\|^2}{\|g\|^2}) \right]^{1/2} \geq |\bar{a}b - |a|^2| \cdot |\langle Cg, f \rangle| / \|f\| \cdot \|g\|.$$

By the first half of the proof, this implies that $\|aP + bQ\| \leq \gamma$. Thus

$$\begin{aligned} \|\alpha I + \beta B\| &= \sqrt{|\beta|^2 \|C\|^2 + \left(\frac{|\alpha + \beta| + |\alpha - \beta|}{2} \right)^2} \\ &\quad + \sqrt{|\beta|^2 \|C\|^2 + \left(\frac{|\alpha + \beta| - |\alpha - \beta|}{2} \right)^2}. \end{aligned}$$

As $\alpha = 0$ and $\beta = 1$, $\|B\| = \sqrt{\|C\|^2 + 1} + \|C\|$ and hence $\|C\| = (\|B\|^2 - 1)/2\|B\|$. This implies (1).

(2) Put $H_1 = BH$ and $H_2 = H \ominus H_1$ then

$$B = \begin{pmatrix} 0 & C \\ 0 & 0 \end{pmatrix} \text{ on } H = H_1 \oplus H_2$$

where C is a bounded linear operator from H_2 to H_1 . Hence

$$\alpha I + \beta B = \begin{pmatrix} \alpha I_1 & \beta C \\ 0 & \alpha I_2 \end{pmatrix}$$

where I_j is an identity operator on H_j ($j = 1, 2$). Suppose $\|\alpha I + \beta B\| = \gamma$, then

$$\begin{pmatrix} \bar{\alpha} I_1 & 0 \\ \bar{\beta} C^* & \bar{\alpha} I_2 \end{pmatrix} \begin{pmatrix} \alpha I_1 & \beta C \\ 0 & \alpha I_2 \end{pmatrix} \leq \gamma^2$$

and hence

$$\begin{pmatrix} (\gamma^2 - |\alpha|^2)I_1 & -\bar{\alpha}\beta C \\ -\alpha\bar{\beta}C^* & \{\gamma^2 - (|\beta|^2 C^* C + |\alpha|^2)\}I_2 \end{pmatrix} \geq 0.$$

Hence

$$(\gamma^2 - |\alpha|^2)\|f\|^2 - 2\operatorname{Re}\bar{\alpha}\beta\langle Cg, f \rangle + (\gamma^2 - |\alpha|^2)\|g\|^2 - |\beta|^2\|Cg\|^2 \geq 0$$

for any $f \oplus g \in H_1 \oplus H_2$. Therefore it is easy to see that

$$(\gamma^2 - |\alpha|^2)^{1/2} \left[(\gamma^2 - |\alpha|^2) - |\beta|^2 \frac{\|Cg\|^2}{\|g\|^2} \right]^{1/2} \geq |\alpha\beta| \frac{|\langle Cg, f \rangle|}{\|f\|\|g\|}.$$

and so

$$(\gamma^2 - |\alpha|^2)(\gamma^2 - |\alpha|^2 - |\beta|^2\|C\|^2) \geq |\alpha\beta|^2\|C\|^2.$$

Then $\gamma^2 \geq |\alpha|^2 + |\beta|^2\|C\|^2$ because $\gamma^2 \geq |\alpha|^2$. Since $\gamma^4 - (2|\alpha|^2 + |\beta|^2\|C\|^2)\gamma^2 + |\alpha|^4 \geq 0$ and $\gamma^2 \geq |\alpha|^2 + |\beta|^2\|C\|^2$,

$$\gamma^2 \geq \frac{1}{2} \left\{ (2|\alpha|^2 + |\beta|^2\|C\|^2) + \sqrt{(2|\alpha|^2 + |\beta|^2\|C\|^2)^2 - 4|\alpha|^4} \right\}$$

and hence

$$\gamma \geq \sqrt{\left| \frac{\beta}{2} \right|^2 \|C\|^2 + |\alpha|^2} + \left| \frac{\beta}{2} \right| \|C\|.$$

As in the proof of (1),

$$\|\alpha I + \beta B\| = \sqrt{\left| \frac{\beta}{2} \right|^2 \|C\|^2 + |\alpha|^2} + \left| \frac{\beta}{2} \right| \|C\|$$

and so $\|B\| = \|C\|$. This implies (2).

§3. Two dimensional Q -algebra

Let A be a uniform algebra and J a closed ideal of A . The quotient algebra A/J is called a Q -algebra. It is known that if A/J is of two dimension then J has one of the following two forms :

$$J = \{f \in A ; f(x) = f(y) = 0\}$$

where x and y are two points in the maximal ideal space $M(A)$ of A , or

$$J = \{f \in A ; f(x) = \delta(f) = 0\}$$

where $x \in M(A)$ and δ is a bounded point derivation at x , that is, δ is a bounded linear functional on A such that $\delta(fg) = f(x)\delta(g) + g(x)\delta(f)$ for $f, g \in A$. Put

$$\sigma(x, y) = \sigma_A(x, y) = \sup\{|f(y)| ; f \in A, f(x) = 0, \|f\|_\infty \leq 1\}$$

and

$$\omega(x, \delta) = \omega_A(x, \delta) = \sup\{|\delta(f)| ; f \in A, f(x) = 0, \|f\|_\infty \leq 1\}.$$

In Corollary 2, if the Hilbert space is of two dimensional and \mathcal{B} is a semi-simple then it was proved by Drury [3] (see [2]).

Lemma. *Let x, y be two points in $M(A)$ and δ a bounded point derivation at x .*

(1) *Suppose $J = \{f \in A ; f(x) = f(y) = 0\}$. If $f_1(x) = 1$ and $f_1(y) = 0$, then $\|f_1 + J\| = 1/\sigma(x, y)$.*

(2) *Suppose $J = \{f \in A ; f(x) = \delta(f) = 0\}$. If $f_0(x) = 0$ and $\delta(f_0) = 1$, then $\|f_0 + J\| = 1/\omega(x, \delta)$.*

Proof. (1) $(\sigma f_1)(y) = 0$ and $(\sigma f_1)(x) = \sigma$ where $\sigma = \sigma(x, y)$. By the definition of $\sigma = \sigma(x, y)$

$$\|\sigma f_1\|_\infty \geq 1 \text{ and } \|\sigma f_1 + J\| \geq 1.$$

There exists $\{g_n\}$ in A with $\|g_n\|_\infty = 1$ such that

$$g_n(y) = 0 \text{ and } \sigma - \frac{1}{n} \leq g_n(x) \leq \sigma$$

for $n = 1, 2, \dots$. Put $f_n = g_n/g_n(x)$ then

$$\frac{1}{\sigma} \leq \|f_n\|_\infty \leq \frac{1}{|g_n(x)|} \leq \frac{1}{\sigma - \frac{1}{n}}.$$

Then $f_n(x) = 1$, $f_n(y) = 0$ and $f_n \in f_1 + J$. Hence $\|f_1 + J\| \leq \frac{1}{\sigma} - \frac{1}{n}$ and so $\|\sigma f_1 + J\| \leq 1$. Thus $\|\sigma f_1 + J\| = 1$. (2) follows from the same argument to (1)

Theorem 2. Let x, y be two points in $M(A)$ and δ a bounded point derivation at x .

(1) If $J = \{f \in A ; f(x) = f(y) = 0\}$ then

$$\|f + J\| = \sqrt{\left| \frac{f(x) - f(y)}{2} \right|^2 \left(\frac{1}{\sigma^2} - 1 \right) + \left(\frac{|f(x)| + |f(y)|}{2} \right)^2} \\ + \sqrt{\left| \frac{f(x) - f(y)}{2} \right|^2 \left(\frac{1}{\sigma^2} - 1 \right) + \left(\frac{|f(x)| - |f(y)|}{2} \right)^2}$$

where $\sigma = \sigma(x, y)$.

(2) If $J = \{f \in A ; f(x) = \delta(f) = 0\}$ then

$$\|f + J\| = \sqrt{\left| \frac{\delta(f)}{2} \right|^2 \frac{1}{\omega^2} + |f(x)|^2} + \left| \frac{\delta(f)}{2} \right| \frac{1}{\omega}$$

where $\omega = \omega(x, \delta)$.

Proof. By a theorem of Cole [2], A/J is isometrically isomorphic to an algebra of bounded operators on a Hilbert space H . Hence there exists a unital homomorphism from A to $L(H)$ such that $\|\Phi(f)\| = \|f + J\|$ for all $f \in A$, where $\|f + J\|$ is the quotient norm of the coset $f + J$ of f in A/J . Then $J = \ker \Phi$.

(1) By [5, Lemma 1],

$$\Phi(f) = \begin{pmatrix} f(x)I_1 & (f(x) - f(y))C \\ 0 & f(y)I_2 \end{pmatrix}$$

on $H = H_1 \oplus H_2$ for all $f \in A$, where I_j is an identity operator on H_j ($j = 1, 2$) and C is a bounded linear operator from H_2 to H_1 . Then

$$\Phi(f) = f(x)I + f(y)B$$

where $I = I_1 \oplus I_2$, $B^2 = I$ and

$$B = \begin{pmatrix} I_1 & 2C \\ 0 & -I_2 \end{pmatrix}.$$

By (1) of Theorem 1, we can give the norm of $\Phi(f)$ using $f(x)$, $f(y)$ and $\|B\|$. Suppose f_1 and f_2 in A such that $f_1(x) = f_2(y) = 1$ and $f_1(y) = f_2(x) = 0$. Then

$$\Phi(f_1) = \begin{pmatrix} I_1 & C \\ 0 & 0 \end{pmatrix} \text{ and } \Phi(f_2) = \begin{pmatrix} 0 & -C \\ 0 & I_2 \end{pmatrix}.$$

By Lemma, $\|\Phi(f_1)\| = \|f_1 + J\| = 1/\sigma(x, y)$. Since $\|C\|^2 = \|\Phi(f_1)\|^2 - 1$ and $\|B\| = \sqrt{\|C\|^2 + 1 + \|C\|}$, (1) of Theorem 1 implies (1).

(2) By [5, Lemma 1],

$$\Phi(f) = \begin{pmatrix} f(x)I_1 & \delta(f)C \\ 0 & f(y)I_2 \end{pmatrix}$$

on $H = H_1 \oplus H_2$ for all $f \in A$. Then

$$\Phi(f) = f(x)I + \delta(f)B$$

where $B^2 = 0$ and

$$B = \begin{pmatrix} 0 & \delta(f)C \\ 0 & 0 \end{pmatrix},$$

and so $\|\Phi(f)\| = \|\delta(f)\| \|C\|$. By (2) of Theorem 1, we can give the norm of $\Phi(f)$ using $f(x)$, $\delta(f)$ and $\|B\|$. Suppose f_0 in A such that $f_0(x) = 0$ and $\delta(f_0) = 1$. Then

$$\Phi(f_0) = \begin{pmatrix} 0 & C \\ 0 & 0 \end{pmatrix}.$$

By Lemma, $\|\Phi(f_0)\| = \|f_0 + J\| = 1/\omega(x, \delta)$ and so (2) of Theorem 1 implies (2).

Corollary 1. *Let A be an arbitrary uniform algebra and J a closed ideal of A . If $\dim A/J = 2$ then A/J is isometrically isomorphic to \mathcal{A}/\mathcal{J} where \mathcal{A} is the disc algebra and \mathcal{J} is a closed ideal of \mathcal{A}*

Proof. By the remark above Lemma, if $\dim A/J = 2$ then $J = \{f \in A ; f(x) = f(y) = 0\}$ or $J = \{f \in A ; f(x) = \delta(f) = 0\}$. There exist two points x' and y' in $M(\mathcal{A})$ and a bounded point derivation δ' at x' such that

$$\sigma_A(x, y) = \sigma_A(x', y') \text{ and } \omega_A(x, \delta) = \omega_A(x', \delta').$$

Put $\mathcal{J} = \{f \in \mathcal{A} ; f(x') = f(y') = 0\}$ or $\mathcal{J} = \{f \in \mathcal{A} ; f(x') = \delta'(f) = 0\}$. Then by Theorem 2 \mathcal{A}/\mathcal{J} is isometrically isomorphic to \mathcal{A}/I .

Corollary 2. *If a two dimensional commutative Banach algebra \mathcal{B} with a unit is an operator algebra on a Hilbert space then \mathcal{B} is a Q -algebra.*

Proof. By Proposition 1 $\mathcal{B} = \{\alpha I + \beta B ; \alpha, \beta \in \mathbf{C}\}$ with $B^2 = I$ or $B^2 = 0$. By Theorems 1 and 2, \mathcal{B} is a Q -algebra.

§4. Q -algebra \mathbf{C}^2

\mathbf{C}^2 is an algebra under coordinate-wise multiplication and if $\|(\alpha, \beta)\| = \max(|\alpha|, |\beta|)$ then \mathbf{C}^2 is a Q -algebra. In this section we consider the converse. For elements (α, β) and (α', β') in \mathbf{C}^2 , we introduce the following three kinds of product.

- (1) $(\alpha, \beta) \circ (\alpha', \beta') = (\alpha\alpha', \beta\beta')$,
- (2) $(\alpha, \beta) \bullet (\alpha', \beta') = (\alpha\alpha' + \beta\beta', \beta\alpha' + \alpha\beta')$,
- (3) $(\alpha, \beta) \times (\alpha', \beta') = (\alpha\alpha', \beta\alpha' + \alpha\beta')$.

Theorem 3. Let \mathbf{C}^2 be an algebra under one of the three kinds of products \circ, \bullet and \times .

(1) $\{\mathbf{C}^2, \|(\alpha, \beta)\|\}$ is a Q -algebra under a product $\{\circ\}$ if and only if for some constant $\rho \geq 0$

$$\|(\alpha, \beta)\| = \sqrt{\left|\frac{\alpha - \beta}{2}\right|^2 \rho^2 + \left(\frac{|\alpha| + |\beta|}{2}\right)^2} + \sqrt{\left|\frac{\alpha - \beta}{2}\right|^2 \rho^2 + \left(\frac{|\alpha| - |\beta|}{2}\right)^2}.$$

(2) $\{\mathbf{C}^2, \|(\alpha, \beta)\|\}$ is a Q -algebra under a product $\{\bullet\}$ if and only if for some constant $\rho \geq 0$

$$\|(\alpha, \beta)\| = \sqrt{|\beta|^2 \rho^2 + \left(\frac{|\alpha + \beta| + |\alpha - \beta|}{2}\right)^2} + \sqrt{|\beta|^2 \rho^2 + \left(\frac{|\alpha + \beta| - |\alpha - \beta|}{2}\right)^2}.$$

(3) $\{\mathbf{C}^2, \|(\alpha, \beta)\|\}$ is a Q -algebra under a product $\{\times\}$ if and only if for some constant $\rho > 0$

$$\|(\alpha, \beta)\| = \sqrt{\left|\frac{\beta}{2}\right|^2 \rho^2 + |\alpha|^2} + \left|\frac{\beta}{2}\right| \rho.$$

Proof. (1) Suppose

$$\|(\alpha, \beta)\| = \sqrt{\left|\frac{\alpha - \beta}{2}\right|^2 \rho^2 + \left(\frac{|\alpha| + |\beta|}{2}\right)^2} + \sqrt{\left|\frac{\alpha - \beta}{2}\right|^2 \rho^2 + \left(\frac{|\alpha| - |\beta|}{2}\right)^2}$$

for some $\rho \geq 0$. Then $(1, 0) \circ (1, 0) = (1, 0)$, $(0, 1) \circ (0, 1) = (0, 1)$, $(1, 0) + (0, 1) = (1, 1)$ and $\|(1, 0)\| = \|(0, 1)\| = \sqrt{\rho^2 + 1}$. If P and Q are projections on a Hilbert space with $P + Q = I$, and $\|P\| = \|Q\| = \sqrt{\rho^2 + 1}$, then $\{\mathbf{C}^2, \circ, \|(\alpha, \beta)\|\}$ is isometrically isomorphic to $\{\alpha P + \beta Q; \alpha, \beta \in \mathbf{C}\}$. By Theorems 1 and 2, $\{\mathbf{C}^2, \circ, \|(\alpha, \beta)\|\}$ is a Q -algebra. Conversely if $\{\mathbf{C}^2, \|(\alpha, \beta)\|\}$ is a Q -algebra under a product $\{\circ\}$, by a theorem of Cole [2] it is isometrically isomorphic to $\{\alpha P + \beta Q; \alpha, \beta \in \mathbf{C}\}$ where P and Q are projections

on a Hilbert space, and $P + Q = I$. Theorem 1 determines the norm $\|(\alpha, \beta)\|$. (2) and (3) are can be shown similarly to (1).

References

1. F.Bonsall and J.Duncan, "Complete Normed Algebras", Springer-Verlag, New York/Berlin, 1973.
2. B.Cole, K.Lewis and J.Wermer, Pick conditions on a uniform algebra and von Neumann inequalities, *J.Funct.Analy.* 107(1992), 235-254.
3. S.W.Drury, "Remarks on von Neumann's inequality," pp 14-32, *Lecture Notes in Mathematics*, Vol. 995, Springer, New York/Berlin, 1983.
4. I.Feldman, N.Krupnik and A.Markus, On the norm of two adjoint projections, *Integ. Eq.Operator Th.* 14(1991), 69-90.
5. T.Nakazi and K.Takahashi, Two dimensional representations of uniform algebras, *Proc.Amer.Math.Soc.* 123(1995), 2777-2784.

Department of Mathematics
Hokkaido University
Sapporo 060-0810, Japan

nakazi @ math.sci.hokudai.ac.jp